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\section{Z7 AV K}

\begin{enumerate}

\item BHXTREHBPEABKBIEFITIV Y IEEES,

\ [

y=£f (x)

\]

\item $\log$EBEBBAVEESIIILFEZAWD,

\ [

\cos(x+y)=\cos x\cos y-\sin x\sin y

\]

\item B TIREHAILEF \verb| \nathrm| ZAW3, \\
$\triangle \mathrm{ABC}$ICHWNT,
$\mathrm{AB}+\mathrm{BC}>\mathrm{AC}$H D I D,
\item BT THHXOHPTTF AP ZRAWS & E (I \verb| \text|
\[

\mathrm{AB}~2+\mathrm{BC}"2=\mathrm{AC}"~2
\quad (\text{=FHDEHE})

\]

\end{enumerate}

\section{flI3}

\subsection{&E&}

TT$asHERSASICE T £ E$a\in ASEDE, BEILBWVWEESa\not\in A$EH K,
ASASHEAIBSDEIES D & E$A\subset B§EM <,

ZEESIE$\emptyset$Efld$\phi$TERT .

EHLHFDEAZ${\nathbb R}I$&M <,



B84, BSICXTL
\begin{align*}
&A\cup B=\{x | x\in A \text{FE7clE} x\in B\I\
&M\ cap B=\{x | x\in A \text{HMD} x\in B\}N\
\noalign{ZHZMW3ICI3}
&Mcup B=\{\,x\, |\, x\in A \quad \text{F7fcld} \quad x\in B\}
\end{align*}

BfRI&$f: A\to B$HTzIE$f: A\mapsto B$&E M<K,

\subsection{fiEtF}

2 DDOEEDHES (x, ) $SICEAT ZEHR

$(x_{1},y_{1P)\dots, (x_{m},y_{mH $ICHWVT, $x,y$DFFEZZENZTNh
$\bar{x}, \bar{y}$& 9D, CDEE. $x$&$ysDHF BN

\

\sigma_{xy}=\frac{1}{m}\sum_{i=1}"{m}(x_{i}-\bar{x}) (y_{i}-\bar{y})
\]

IEEDEERT 5o

TESXSDERZEBAHN

\ [

f(x)=\frac{1}{\sqrt{2\pit\sigmate {-\frac{(x-\mu) "2}{2\sigma~2}}
\]

DEE, $X$IFEHRPHIN(\mu, \signa~2) $ICHS &V 5,

BT, SN0, 1)S$ZREERDTMEWV S,

EEFRAPGOBEERBDI 5 7% Ti{\sl k}Z ZAVWTHELICIK. ZYFYTILIC\\
\verb|\usepackage [dvipdfmx]{graphicx,xcolor}|\\
\verb|\usepackage{tikz}|\\

ELEE, tikzpicture REZRAWS

\begin{center}
\begin{tikzpicture} [domain=-3:3,samples=200]
\draw [->] (-3.2,0) -- (3.2,0) nodel[right] {$x$};
\draw [->] (0,-0.1) -- (0,2.5) nodelabove] {$y$};
\draw plot (\x, {5 * exp(-0.5 * \x * \x) / sqrt(2 * pid});
\foreach \x in {-3,...,3}
\draw (\x,0)--(\x,-0.05) node[below=2pt] {\footnotesize $\x$};
\draw (0,2.1) node[left=1pt] {\footnotesize $1/\sqrt{2\pi}$};



\draw (1,1.5) node[above,right] {$y=\frac{1}{\sqrt{2\pi}}te~{-x"2/2}$};
\end{tikzpicture}
\end{center}

Ti{\sl k}Z DFFMIFRF « BKRE F\LaTeXx2 EXEERAF1 KT 6 RfF#% D
(ESEDBIE. p.365, pp.369-370) MWD &,

\subsection{fF#T}

#Is\{a_{nN\I$IKEWVWT, HOBESI$ZMD R KRES LI LE,
$a_{n}$H—EDfE$\alpha$lcBRDEIHEDI L EEF, $\{a_{n}\}$lF$\alpha$lcNRT B E WS,
ZDEE,

\ [

\alpha=\lim_{n\to \infty}ta_{n}

\]

&<,

ERICRT ERDESITRES,

FEHIS\{a_{n}\I$HRE$a$ICNRT B & 1d. EABRIEHS$\epsilon>08$

KU TH, H2BAHSn_{\epsilon}$DBFEEU T, $n\geqq n_{\epsilon}$
BHETINTOBEARENSICIH LT, $la_{n}-\alphal<\epsilon$& kB ELEWNS,

\subsection{{FHE}

$n$RIEATTIISASY\in M_{n} ({\mathbb R})$
XU N7 ML$\bm{x} (\ne\bm{0}) $HFTEL

\ [

A\bm{x}=\1ambda\bm{x}

\]

EBBEE, $\lanbda$ZSASDEEE. $\bn{x}$%Z
$\lambda$lcH I BEERT MLEWS,
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